



INVITATION TO BID FOR SUPPLY AND DELIVERY OF LABORATORY SUPPLIES (BACTE) IB NO. 2023-04-039-G

1. The FAR NORTH LUZON GENERAL HOSPITAL & TRAINING CENTER, through the INCOME FUND 2023 intends to apply the sum of PhP 1,026,531.95 being the ABC to payments under the contract for SUPPLY AND DELIVERY OF LABORATOR SUPPLIES (BACTE). Bids received in excess of the ABC for each item shall be automatically rejected at bid opening.

Unit	Item Description	Quantity	Unit Cost	Total Cost
PC	BD ADULT culture bots 50pcs/box	150	599.00	89,850.00
PC	BD PEDIA culture bots 50pcs/box	200	599.00	119,800.00
PC	DISPOSABLE PETRI DISH	1000	15.66	15,660.00
BOT	DENATURED ALCOHOL 4L/GAL	4	1,200.00	4,800.00
BOX	TUBE PHOENIX ID BROTH SP100(246001) 100/BOX	4	8,400.00	33,600.00
BOX	TUBE PHOENIX AST BROTH SP100 (246003)100/BOX	4	8,866.67	35,466.68
BOX	TUBE PHOENIX AST-S BROTH 100EA (246007)100/BX	1	7,886.67	7,886.67
BOX	PHOENIX AST INDICATOR (246004) 10/BOX	1	21,933.33	21,933.33
BOX	PHOENIX AST-S INDICATOR (246009) 10/BOX	1	11,573.33	11,573.33
BOX	PANEL PHOENIX SMIC/ID 8 (448857) 25/BOX	2	20,533.33	41,066.66
BOX	PANEL PHOENIX YEAST ID (448316) 25/BOX	2	10,500.00	21,000.00
BOX	PANEL PHOENIX PMIC/ID 55 SP (448911) 25/BOX	6	14,933.33	89 <i>,</i> 599.98
BOX	PANEL PHOENIX NMIC/ID 95SP (448783) 24/BOX	10	17,733.33	177,333.30
CART	BD BBL Amikacin disc 30ug	1	299.00	299.00
CART	BD BBL Amoxicillin/Clavulanic acid disc 20/10ug	1	299.00	299.00
CART	BD BBL Ampicillin disc 10ug	1	299.00	299.00
CART	BD BBL Ampicillin/Sulbactam disc 10/10ug	1	299.00	299.00
CART	BD BBL Aztreonam disc 30ug	1	299.00	299.00
CART	BD BBL Bacitracin .04 units (TAXO A)	1	299.00	299.00
CART	BD BBL Cefazolin disc 30ug	1	299.00	299.00
CART	BD BBL Cefepime disc 30ug	1	299.00	299.00
CART	BD BBL Cefinase disc	1	299.00	299.00
CART	BD BBL Cefotaxime disc 30ug	1	299.00	299.00
CART	BD BBL Cefoxitin disc 30ug	1	299.00	299.00
CART	BD BBL Ceftazidime disc 30ug	1	299.00	299.00
CART	BD BBL Ceftriaxone disc 30ug	1	299.00	299.00
CART	BD BBL Cefuroxime disc 30ug	1	299.00	299.00
CART	BD BBL Chloramphenicol 30ug	1	299.00	299.00
CART	BD BBL Ciprofloxacin disc 5ug	1	299.00	299.00
CART	BD BBL Clindamycin disc 2ug	1	299.00	299.00
CART	BD BBL Ertapenem disc 10ug	1	299.00	299.00
CART	BD BBL Erythromycin disc 10ug	1	299.00	299.00
CART	BD BBL Imipenem disc 10ug	1	299.00	299.00
CART	BD BBL Gentamicin disc 120ug	1	299.00	299.00
CART	BD BBL GENTAMYCIN DISC 10ug	1	299.00	299.00
CART	BD BBL Metronidazole disc 5 ug	1	299.00	299.00
CART	BD BBL Meropenem disc 10ug	1	299.00	299.00
CART	BD BBL Minocycline disc 30ug	1	299.00	299.00
CART	BD BBL NALIDIXIC DISC 30ug	1	299.00	299.00
CART	BD BBL NETELMICIN DISC 30ug	1	299.00	299.00
CART	BD BBL NITROFURANTOIN DISC 30ug	1	299.00	299.00
CART	BD BBL NOVOBIOSIN DISC 5 ug	1	299.00	299.00

LINE ITEM-PROCUREMENT:





Republic of the Philippines Department of Health FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER Quirino, Luna, Apayao



		-		
	BBL TAXO P (Optochin disc)	1	299.00	299.00
	BBL Oxacillin disc 1 ug	1	299.00	299.00
	BBL Penicillin disc 10 ug	1	299.00	299.00
CART BD	BBL PIPERACILLIN/TAZOBACTAM 100/10ug	1	299.00	299.00
CART BD	BBL Streptomycin disc 300ug	1	299.00	299.00
CART BD	BBLTrimethoprim/sulfamethoxazole1.25ug	1	299.00	299.00
CART BD	BBL Tetracycline disc 30ug	1	299.00	299.00
CART BD	BBL Tobramycin disc 10ug	1	299.00	299.00
CART BD	BBL VANCOMYCIN DISC 30ug	1	299.00	299.00
BOT Blo	ood agar base 500g	1	7,450.00	7,450.00
BOT Bile	e esculin agar 500g	1	7,450.00	7,450.00
BOT Bro	ain Heart Infusion Broth 500gms	1	7,450.00	7,450.00
BOT CT	A Agar 500gms	1	7,450.00	7,450.00
	lumbia Agar 500gms	1	7,450.00	7,450.00
	xtrose powder 500gms	1	7,450.00	7,450.00
	ase powder 500gms	1	7,450.00	7,450.00
	ed bovine hemoglobin 500gms	1	7,450.00	7,450.00
-	agar base 500gms	1	7,450.00	7,450.00
	anulated Agar 500gms	1		•
			7,450.00	7,450.00
,	ine iron agar 500g	1	7,450.00	7,450.00
-	ine indole motility agar 500gms	1	7,450.00	7,450.00
	ic conkey agar 500g	1	7,450.00	7,450.00
	Iltose powder 500g	1	7,450.00	7,450.00
	initol agar 500gms	1	7,450.00	7,450.00
	eller Hinton Agar 500 g	1	7,450.00	7,450.00
	trient agar 500g	1	7,450.00	7,450.00
BOT OF	Basal Medium 500g	1	7,450.00	7,450.00
BOT Or	nithine agar 500gms	1	7,450.00	7,450.00
BOX Ox	idase Reagent ampules 10/BOX	1	7,450.00	7,450.00
BOT Ph	enyl Ethanol agar 500g	1	7,450.00	7,450.00
BOT Sal	oorauds/Dextrose agar 500g	1	7,450.00	7,450.00
BOT Sal	monella Shigella agar 500g	1	7,450.00	7,450.00
BOT Sel	enite Cystine Enrichment 500g	1	7,450.00	7,450.00
BOT SIN	AGAR 500G	1	7,450.00	7,450.00
BOT Sin	nmon Citrate agar 500g	1	7,450.00	7,450.00
BOT Sor	bitol agar 500gms	1	7,450.00	7,450.00
	ea AGAR 500g	1	7,450.00	7,450.00
	% Sodium chloride 500gms	1	7,450.00	7,450.00
	BS agar 500g	1	7,450.00	7,450.00
	rehalose agar 500gms	1	7,450.00	7,450.00
	ple sugar iron agar 500gms	1	7,450.00	7,450.00
	oglycollate broth 500gms	1	7,450.00	7,450.00
	ea AGAR 500g	1	7,450.00	7,450.00
	LKINS CHALGREN AGAR 500G	1	7,450.00	
				7,450.00
	rse blood 100ml/bot	4	1,800.00	7,200.00
	eep's Blood 100ml/bot	2	1,800.00	3,600.00
	IAEROPACK CO2 SACHET 10/BOX	1	3,970.00	3,970.00
	aline peptone water	1	7,450.00	7,450.00
	lich Reagent	1	3,500.00	3,500.00
	DIA INK	1	1,500.00	1,500.00
	lole droppers	1	1,250.00	1,250.00
	posable calibrated loop	1000	9.00	9,000.00
	actor 50 disc/cart	20	500.00	10,000.00
SET BD	PHOENIXSpec CALIBRATOR KIT 440911	1	21,300.00	21,300.00
PC AL	COHOL LAMP	1	350.00	350.00





Republic of the Philippines Department of Health FAR NORTH LUZON GENERAL HOSPITAL AND TRAINING CENTER Quirino, Luna, Apayao



BOT	KOH REAGENT	1	480.00	480.00
SET	MEDICS GRAM STAIN	2	3,500.00	7,000.00
SET	ACID FAST BACILLI STAIN (HOT METHOD)	2	3,500.00	7,000.00
PC	STIRRING ROD	1	350.00	350.00
BOX	WHATMANN FILTER PAPER	2	450.00	900.00

- 2. The FNLGHTC now invites bids for the above Procurement Project. Delivery of the Goods is required by 30 days Upon Receipt of NTP. Bidders should have completed, within **2 years** from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "*pass/fail*" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
 - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.
- Prospective Bidders may obtain further information from Far North Luzon General Hospital & Training Center, Procurement Office - Administrative Building and inspect the Bidding Documents at the address given below during Monday – Friday, 8:00AM – 5:00PM.
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on **May 2-May 22, 2023** from the given address and website(s) below upon payment of nonrefundable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of **PhP5,000.00**. The Procuring Entity shall allow the bidder **to present its proof of payment for the fees in person**.

It may also be downloaded free of charge from the website of the Procuring Entity, provided that the Bidders shall pay the nonrefundable fee for the bidding documents not later than the submission of their bids.

- 6. The **FNLGHTC** will hold a Pre-Bid Conference¹ on **May 9, 2023, 1:00PM** at **Far North Luzon General Hospital & Training Center, DAD's Hall - Administrative Building** which shall be open to prospective bidders.
- 7. Bids must be duly received by the BAC Secretariat through manual submission at the office address indicated below, on or before May 22, 2023 1:00PM. Late bids shall not be accepted.

¹ May be deleted in case the ABC is less than One Million Pesos (PhP1,000,000) where the Procuring Entity may not hold a Pre-Bid Conference.





- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on May 22, 2023 1:00PM at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The Far North Luzon General Hospital and Training Center reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

[JULIET A. CABRERA] [PROCUREMENT OFFICE] [FAR NORTH LUZON GENERAL HOSPITAL & TRAINING CENTER, QUIRINO LUNA, APAYAO] [julietcabrera30@yahoo.com] [0918-9065148]

12. You may visit the following websites:

For downloading of Bidding Documents: [http://fnlghtc.doh.gov.ph]

FELIPE R. AGBISIT, MD, FPSMS, MHA BAC CHAIRMAN

